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Description

Each player is a medieval Knight in a Joustingriaoment. This is a two player card game. Cardslame
used for the board, only 2 dice and 2 counterseayeired. Play consists of using 3 cards eachftom a
player’'s own deck — A card to modify where the igaimed, a card to change your horse’s speed and
card to move your knight. Cards are not re-useatih.

Equipment
To play this game you will need-

- Shield Cards (4 cards for each player)

» Hit Location Cards (18 cards)

« Aim Cards (9 cards for each player)

« Knight Cards (9 cards for each player)

- Horse Cards (8 cards for each player)

- 1 die to represent speed for each player

- 1 counter to represent your aim point for eachgiay

The Board < Player A Player B [
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There are 14 empty spaces between each Kmghha centre of the tilting field.

Note-
Impact between charging knights may not occur éxattthe centre line, it usually occurs on onessid
the other.



Setup

Place the board (4 cards with 3 squares, 2 cartisGrgquares and 4 more cards with 3 squares), and

randomly determine the First Player.
The First Player places their aim counter on ont@ffour starting location on the hit location kha
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The other player then places their aim counter stading location (it may be the same one).
« The starting locations arel, A5, D1
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Horses start at speed 0.
The Turn
1. Both players must put face down in front of therirh card, 1 Aim card
Horse card and 1 Knight card. HHLEAACE
2. Players turn oveaim cards and resolve them. e
o The First Player resolves their card before themottayer. L peoeg
3. Players turn ovehnorse cards and resolve them. -
o The First Player resolves their card before themottayer.
4. Both horses accelerate unless cards change thevioer. HORSE
o If a horse is travelling at less than 6 speed ciase its speed .
by 1.
5. Move the horses. Horse card
o Check forThe Break. MOIESRTE
o Check forThe Impact. % L%
6. Players turn oveknight cards and resolve them. &
o The First Player resolves their card before themottayer. E
7. The other player now becomes the First Player.
_ _ Knight card
Hit Locations
Al Far left of he A2 Left of head A3 Head A4 Right of head |A5 Far right of he
Miss Miss +2 Impact Miss Miss
START START
Bl Left of ches{ B2 Chest - Left B3 Chest - Right | B4 Right of ches
Miss +1 Impact Miss
CllLeft of torsof C2Torso - Left C3Torso - Right | C4 Right of torsg
Miss +1 Impact +1 Balance to oppongnt ~ Miss
+1 Balance to oppongnt

D1 Left of Leg D2 Leg - Left D3 Horse D4 Leg - Right
BREAK BREAK Disqualified [+1 Balance to oppond
START BREAK

D5 Right of legs
nt Miss
START




The Shield

The shield can be in one of four locations, theadiflocation for the shield ®utward unless a player
changes it through use of cards.

There are advantages and disadvantages to usimegla is jousting. The advantage is that it lessbes
impact of blows and you can therefore retain yalabce more easily. The disadvantage is thatarge
and makes your profile larger - some areas thatdvaave been misses otherwise, are now hits.

| Down Shield Impact| Up Shield [Impact
B3 L1 A3 -1
C3 L2 | A4 -2
ca | 4

Inward Shield Impact/Outward Shield Impact
B2 | -1 || A4 | -1 ||
B3 ‘ -2 B3 -2

The Break

When both knights are at range 0 on the map, imgaairs. Even if this is partway during a horsetsen
for their speed.

1. Any aim point to the left in levels D (D1, D2 or PBecomes an automatic miss - the body of the
opponent's horse blocks the hit.
o If you have an Impact value above 2, your lancakseas well.
2. Move the horses their full move for their speed.

The Impact

1. Each player gets a bonus to their Impact valuechasghe combined speed at which their horses
met at range 0.
o Speeds 2-5 = +0 Impact
o Speeds 6-10 = +1 Impact
o Speeds 11-12 = +2 Impact
2. The knight that has moved furthest gains +1 Impact.
o Count the squares from each knight to their stgthcations.
3. Add any factors from Knight cards that are stilex@nt to your Impact total and to your Balance
total.
Add any factors from your shield's position to ybatance.
Add any factors from the hit location being aiméd a
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Subtract your opponent's total Balance, from your otal Impact

« Impact of 1 = A hit, no result, no points.
« Impact of 2-3 = Break lance. Worth 1 point on thest, torso or legs, or 2 points if the head.
« Impact of 4 or more = Unhorsed. Automatic win.

o If both knights are unhorsed, the knight with tihghlest impact total wins.

After three tilts, if neither player is unhorsethe player with the highest score wins.



